Spring 2004 Public Finance Final

1. Logrolling, because it makes it easier to form majority coalitions, should improve the probability that only programs that have more benefits than costs will pass.  This is because a winning coalition could always form among the potential losers, who since they lose more, could always afford to ‘bribe’ people into their coalition to gather more votes.  

2. Bureaucrats intentionally shirk on their productivity because they are lazy.

3. Because the benefits of voting are very small and uncertain, people probably don’t invest much effort in determining their vote, and therefore often vote against their own best interest.

4. A government solution to a market failure is always a good idea.

5. American democracy is plagued by cycling.

6. The sort of tax system that an economy uses will determine the scope of government demanded.

7. In democratic societies, relatively small, motivated groups will have an advantage of large, motivated groups.

8. Rent seeking is a major cost to the U.S. economy and a major determinate of government policy.

9. Because life is priceless, smoking should be banned in all public restaurants because it increases the health risk of waiters. 

10.  Any market failure (public goods, monopoly, externality) creates dead-weight losses and therefore requires a government solution. 

11. "Immigrants impose externalities on American workers by reducing wages."

12. As a citizen, it would be better (i.e. let you achieve a higher utility) to live in a country with 50 different governments rather than a country with a single government.

1. Part I: Contrast the private and social benefits of each of the following (2-3 sentences each).  If you think the private and social benefits are approximately equal, explain why.

a. You go to a movie.

b. You mow your lawn (think aesthetics).

c. You take the bus instead of driving during rush hour.
d. You learn how to program computers.
e. You invent a cure for AIDS.

 
Part II:  Contrast the private and social costs of each of the following (2-3 sentences each).  If you think the private and social costs are approximately equal, explain why.

a. You start smoking marijuana.

b. You mow your lawn (think noise).
c. You drive late at night instead of taking the bus.
d. You put up a web page attacking organized religion.
e. You rob a bank.
Part III:  Pick one of the cases in Part I and one of the cases in Part II where private and social benefits or cost diverge, and suggest a government solution and a Coasian solution to the problems and be sure to describe how it would be implemented and why it would improve the situation.
2. Imagine that someone invents an engine that runs on seawater, which is so clever that nobody can figure it our or copy it in any way, giving the inventor a solid monopoly without any need for a patent from the government .

a) Show graphically and explain what happens if this inventor chooses to be greedy and maximize profits.  

a. Are the consumers better off or worse off?  Is society?  

b. Is there any problem with this arrangement?  

c. What will the long-run impact be from the creation of this monopoly?

b) Economist generally don’t like monopolies like the one described in (a).  Describe what an economists “blackboard” solution would be when faced with a monopoly problem like (a).  

a. What would be the benefits of this solution?  

b. What would be the cost?  

c. How would the long-run affects be different than the short-run?

c) In the real world, regular people also don’t like monopolies, though maybe not for the same reasons as economists.  People can, through voting, control economic behavior like monopolies.  Imagine that you are a politician who wants the support of voters who disapprove of this monopoly.  What sort of actual policy solution will you put on this monopoly?  

a. How will you implement and oversee this policy?  

b. Who will set prices, output, and quality?

c. By what process will the decisions about price and output be made?

d. By who?

d) How would determine if the “government solution” presented in part (c) leaves the world better or worse off than the “market failure” from part (a)?  Be sure to consider both a short run comparison and a long run comparison between the options and don’t forget to consider the Public Choice perspective.

